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A
VAL PART-1I

> Wflweo / BIOLOGY
(s wHmib phdle el / Tamil & English Version )

&I 3ere] : 3.00 wenfl CHyLd | [ Qorgs mg‘,]ﬁ@uaq’m;m : 70
Time Allowed : 3.00 Hours ] [Maximum Marks : 70

Sifleyenrat : (1) manss larréssesn slurs ufeurd e arergr eramLgmen
gflurisg s Qarerereyd. Faiiudeld @Gopul@mider si@ps
samasranflliumeriLib o 1 anguwirsd GQgfeléssea.

2) Heod dag smLIL emwufaer wi HCLW rpgausHEGL LWaTUHSS
Ceauamr(@ib. ULHSET eayaugH@GL, SiigsECasmg(eusnEw
Quenfled LwWeTI(HSS@LD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

G&Ily @ u@H-I1 (2¥fl-grarelwe), u@d-11 (eWf-domdud) sallsseal
alenL_ssmafledr eflen_wiafl&Ese]LD.
Note : Candidate should answer Part-I (Bio-Botany) & Part-II (Bio-Zoology) in separate

answer-books.

LS - I (2-uilfl-greugeilwev) / PART - I (BIO-BOTANY)
(HUQuenTser : 35) / (Marks : 35)
9ifley - 1 / SECTION - 1
GOy : () e elamssEnsEh elamLwailssayb. 8x1=8
i) Qar@ssuul(@erer wrpm eleoLseiled Wseab eHyemLW
eoLamwus Compeshissd Gl HLrer el lmanyb Cargg
6T(LPS@YLD.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.

[ Hlwuiys / Turn over
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1 e by srauriise @HAwhg e-maurssiL@emen :

(1) Csed Wgemeu eueritiLy (<) 2-mitiy euemiriiL

(8) Wsss8le cueriiiy (/) yGrm GLrQerre euaTiUL
Virus free plants are developed from :

(a) Cell suspension culture (b) Organ culture

(c) Meristem culture (d) Protoplast culture

2. aefls fHurs wsHwusseund auminps, Ceauarrar srBsafled eueTissULI(HLD
wrEismers GOIUAHs.
(=1) erigenrem, <jeFerdlwm
(<=p) wereGeulbl], SL DL
(@) <6Csaflunr, SieVTgFrELT @6y &
(rF) Qeevuraflwm, &Csadlwm

Some of the major species cultivated in Agroforestry for commercial use :

(a) Erythrina, Albizzia
(b) Malaivembu, Kadambu

(c) Acacia, Azadirachta Indica

(d) Sesbania, Acacia

@55 uar@eaar Qupp srw Sesliy DOTFEMET 2 LW STaITD @S
LamYenen 2 ent_w GeueTenar i GaTaTL FMu SreursgiL 6 sl &b
Gurg L &@ED & FFHSS

(=1) Simasgib feauliy wersdr () Gerd CleueTener weiser

(@) @erd Seuli DeT&ET (F) Sjandgib CeudTener evTEHeT

If a homozygous red flowered plant is crossed with a homozygous white flowered

plant then the off-spring will be :
(b) Half white flowered

(d) All white flowered

(@) All red flowered
(c) Half red flowered
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QuUTmSHIS

1) e CarmrGusls i) elLssememLw

2) evGELGarmrélwav (i) Bireurp GLsélen <o
() ewELCarraprences (i) o awrey

4)  avQLCanmsLrgs (iv) aumflLg Csiey

(

(1) (@) - (iv), (2 (i), (3) - (i), (4) - (i)
(c%)( (m ) - (@), (3) - (@), (4) - @)
(&) () @), () - (), (4) - (i)
(

) (1) - (i), () - (), ©) - (), (4) - (i)
Match the following :

(1) Stenobathic (i)  Salinity

(2) Stenoecious (i) Depth of water/habitat
(3) Stenohaline (i) Food

(4) Stenophagic iv) Habitat selection

(@ (1)- @), () - @), @)- (i), (4) - @ )
(b) (1) - (i), () - (@), @) - (i), (4) - (i)

(c) (1)~ (i), (- @), @) - (iv), (4) - (i)
(@ (1) - (@), @) - {v), G) - {) @) - (i)

< &ACurav@Unbsafler e CallGLreuiger (pse Qg :

(1) & a6 Sl (<) maw 6ildg)
() Cue efss) (F) 2La@m
First cell of Male gametophyte in angiosperms is :

(a) Primary endosperm (b) Microspore
(c) Megaspore (d) Nucleus

o5 <hésy @@ ‘wrugy daeldur® S el umeri & el wrs
pweu®EsLILGSDg ?

(<1) GMF (<) aulLaliga LTS
(@) GFP () PLA
Which is frequently used as reporter of expression ?
(a) GMF (b) Circular protein
(c) GFP : (d) PLA

. gGsraflen yqaiafl war_b raLbeg :

(=) wsHw laren (1) @Csren &eugid
(@) uwemmn eGemen (/) meentd LD gGaTen
The Ozone layer of troposphere is called :

(a) Middle Ozone (b) Ozone Shield
(c) Bad Ozone (d) Good Ozone

[ Siuiys / Turn over
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8.

L& LHMID 2 QU ST STRIGD STeursSler QU :

(<) Qerenmellsm (=) LALg Caed
(@) rurGenr Gyrdlssm () SLmblm-2
Name the plant which is pest resistant and saline tolerant :
(@) Sonalika (b) Triticale

() Rhaphanobrassica (d) Atomita-2

Yifley - 2 / SECTION - 2

Gy : Spsaneyd damssaid  gCs@id BTG

N TESEHES
4x2=8

el wafl&saLd.
Note : Answer any four of the following questions.
9. ensldlifll - euenTumIESa|D.
Define Cybrid.
10. elewslILpSeT LILIGTEET HTESlene er(PSIs.
Write any four uses of Seedball.
11. gniew Gubur® Qewed St sddar EhlsGarer wrg ?
What are the objectives of clean development mechanism ?
12. Qupens CoueaTTamenld - QUENTWMIGEHED.
Define - Organic farming.
13. AaGeaubder graureflud Quui wHmD GEHOUSSes GO @, Coab
QR LILIET 6T(LGI5.
Write the Botanical name and family of Nilavembu. Write any one of its uses.
14. 29ismfed mruefueded Lwea@Bn Aprdsed wreea ?

Name the enzymes involved in genetic engineering.
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Wifley - 3 / SECTION - 3
@PlLy : Spssramnd  damisald  gCsenib pperTm eSS (EHE G
aflenwellGseyn. eferr erawr 19 -&@ sLLmnuwns e welésa)b. 3x3=9
Note : Answer any three of the following questions. Question No. 19 is compulsory.
15.  preng wenfl sreursde
Qeuafiit LFews Qana 2. @LW Freurd X SILIF LIFME Gana) 2 O STAUFLD
(<pehm) (Quiar)

?

urrbuflugsler cumsemw efeufdseyib.
In 4 o'clock plant

Pale green leaved plant x Dark green leaved plant
(Male) (Female)

?

Explain the type of inheritance.

16. pBR322 GermevdL erammed eremen ?
What is pBR 322 plasmid ?

17. u&eow Qde eleerey erarpre eramar ? LsK®L GQee eurusseflar gy
umkisatlbemer LILLD auenrs.
What is Green House Effect ? Draw the relative contributions of green house gases.

18. o.eom Gefir LTESTIL UpHl er(ps)s.

Give an account on cryo preservation.

19. yefl eurfib wHmb Qewed arPlLb Pdwuapdpe QoL Cw 2 drer
Ceaumurhaar epandlenans damis.
Write the three differences between Habitat and Niche.

A [ SiwLiys / Turn over
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\Slfley - 4 / SECTION - 4
GSOloy NS T Gfﬂsmrr&a@&@m ellenLwefl&sayLb. 2x5=10
Note : Answer all the questions.
20. (=) wsTHs GYEML Gl@ueT Heamwsdlan aumssamer ellerd@Es.
S|6V60
(<) LruEY UL LD erempmdd eremen ? DS LILIGTESENET 6T (LPSIS.
(@) Explain the different mode of entry of pollen tube into the ovule.

OR

(b) What is gene mapping and write its uses.

21 (=) Gbleva waETL @M LTGSTILS ereueumy ?
S6V6VS

() rmepeyd, Gempayd efleusmuilsar. grep shswinien ppab LLAT Qsligmi.
Gemap soliy greurkiser epad LT QewisT.

@ Qo wrmsE Uslu sreur euanssdr HeLs@n ?
(i) <ibs GCaie) weapuldn pateser WHMHIDL Smwamer er(pgs.

(a) How to protect the ecosystem ?

OR

Ramu and Somu are farmers. Ramu cultivated the crops by self fertilization

(b)
method. Somu cultivated the crops from mixed population.

(i)  Who will get new variety ?

(i) Write the advantages and disadvantages of their selection.
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UGS - 11 (2-uifl-efleomuflwed) / PART - II (BIO-ZOOLOGY)
(wHuCuamser : 35) / (Marks : 35)
WYlfley - 1/ SECTION - 1

GOLY : () Semengs amssEnhEnh el wefbsaib. 8x1=8
() Gsr@ssuuc@erer wrpm MeLsaid Wsa b ghymLW
eflenLenws CaipEshs5gsE GHUL B ellaWmanyb Carsg)
GT(RSEYLD.
Note : (i)  Answer all the questions.
() Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
1. Qurmpsgs.
(1) smbyw Qeueflel® TUD (i) LNG-20
(2) amrrGwmrer Qeuafleli(® IUD (i) eluen euenerw IUD
B) wmpsleeor IUD (iii) &rCanedl
(4) wrESemrger (iv) Multiload-375

(1) @) - @v), @) - @), @) - (@), (4) - (i)
(=) (@) - @v), () - @), @) - (@), (4) - (i)
(&) ()- @) (2)- @), @) - (i), (4) - 1)
(7)) (1) - @), (- (@), @) - (i), (4) - (i)

Match the following :

(1) Copper releasing IUD (i) LNG-20

(2) Hormone releasing IUD (i) Lippes loop IUD
(3) Non-medicated IUD (iiiy Sakeli

(4) Mini pills (iv) Multiload-375
(@) (1)-@v) @ -0 ©)- () @) - [

(b) (1)-@v) - @) G)- @) @) - )

(© (1)) (- @) @) - (i), (4) - @

(d)

M) - ), @) - (), @) - (i), @) - (i)

[ miys / Turn over
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2.

a.Casreme -aw L srssCrrewevey srefedGu LD Cerseans
Qe o sLurTensener 2 HuGH Ceeudld Hppag. eer ?

(=1) 209flw Aprdlsoafler or.Carmumu LuaUBES PGUTS!

(=) Urstiser 2. pusdes Wermeulllpaer or.Carema -ulld geaae

(@) yrstisemer sissmruUbDD LU @ausss Coeamewme Quirki@ gerd

er.Careney -udeh @venev
() yrsmasamer 2pusd QsliegsnEGs Cgeaneu wime or.Carener eraflflev
oo LiLglevene _
recombinant

Why Saccharomyces Cerevisiae is more suitable for production of

interferons than E.coli ?
(a)  E.coli cannot be used in biofermentor.
(b)  E.coli does not have suitable plasmid for the production of proteins.

(c)  E.coli does not have the machinery for glycosylation of proteins.
(d) E.coli is not easily available for the production of proteins.

SpeumeuaTaunmier, HHECHTETONGESESMSL LHHIL 2 erenTer sahml 6Tl ?
(<=1) smaydn e ad@mhg Lo ted Hleney 2 [HeUTSe

(<) epe Gansdsd Ba@saNdmbs GHIUEILL 2 mUiser CoTammiSed
(@) @rH&E HmHECamed, epalBi&EE S(MEGHTETLDNS LDMHILD Bl&spFs)

() amaEGarerd &mpLiamuuden seubL 6 @LUigs Qamer(Engen

Which one of the following is true to gastrulation ?

(a) Formation of multicellular structure from Zygote

(b) Formation of specific organs from germ layers
(c) Formation of three germ layer embryo from single layer embryo

(d) Attachment of blastocyst to the uterine wall

Speumid Heow Hlepaibpme, 2 (HaQWLIEs QrleLwisd e Geurssiub-
Fpriger :

(1) @ram( efpbgl ClFesa, e <iah Qadene smeymé Gsliglemen
(=) @ram(® efpg Claasadr, Qre(H AT IBISENETE smeuns Qeifermen
(@) em b e, Gramh SiaTLBIsmeTs SHaynE Cedlamnar

(F) @ elbg &, @ Ae Qedera &MHeyné Celidmg)

Identical twins are produced when the following condition is satisfied :

(a) Two sperms are fertilizing one egg

(b) Two sperms are fertilizing two eggs

() One sperm is fertilizing two €ggs

(d) One sperm is fertilizing one egg
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ELISA psearenwnwirs @snEU LwerU S mg).

(=1) mbussss LaTLSEmETLENL W grahsmard Gore Qi
(<) Hlei wIHPRISHETE ST Ol ‘

(@) Grmis Hmblamend samHu

() eNmibussss LaTLSmanenL W 6flemn GSHmeTs Gairay Qe
ELISA is mainly used for :

(@) Selecting plants having desired traits

(b) Detection of mutations

(c) Detection of pathogens
(d) Selecting animals having desired traits

Fnpml (8n) :  LOIUED rHoluCL Bt - LSS, Crm LS Seenlo
' QETERTL CUNS.
smyewid (&) @ cy - s, @5sTarsH® > HusSH Qeuniu@esre,
selldg UTIPLD LLEGHESHEHEES GTETTE HL 6Ly SOESEE
FRHUBHS DG
(1) (8) LHDID (&T) Y&lwael o FTEHLLITETENG; T (&), (&n) -eoWl
eferésellrena

(<) (&) soums (&) &
(@) (ga) wHpd (&) < Hwene SeUDTETenas

() (8n) 2 GTEHLD ZHETED (&m) seumi

Assertion (A) s Genetically engineered Bt-cotton is disease resistant type.
Reason (R) 3 Cry-toxin produced in the plant has specific activities against
free living fungi. _

(a) Both (A) and (R) are true, but (R) does not explain (A)
(b) (A)is wrong ; (R) is correct
(© Both (A) and (R) are wrong
(d) (A) is true but (R) is wrong

[ Hwliys / Turn over
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7. arflL &rfldlammd s sHewwrar UrdiLsEnsEd o eremmdl, Sy
Bleneudled 2 erer efevriiflenin g ?

(=1) L Coredaar (<) U@ty &6T
(@) LD 6n eu &eiT (FF) @@ a,;rr@aﬂa;dT

— foh D
Which one of the following are at high risk of extinction due to habitat destruction ?
(a) Echinoderms (b) Mammals
(c) Birds (d) Amphibians

4. GT.GT. FNEHMTSHEREED, Spi.aren.q. sissmraERsED @G eerer

Gouguim(p : _

(=) g-&alfGured sidsmriln gm <ysalme sian 2ifswrs GmUug)

(<) AGumed sissmmier @ ybadindr Sign GoDeuTS QHBLILS!

(&) MGurev srssmmier @ < sadnd c@nssdT Gonaurs GmILS

() g-2salfiCurey srssmr@en @m <psalnd Aan GODITS
fouug |

The difference between DNA sugars and RNA sugars is :

(a)  One oxygen atom excess in deoxyribose sugars

(b) Ome oxygen atom less in ribose sugars

() Two oxygen atoms less in ribose sugars

(d) One oxygen atom less in deoxyribose sugars

9fley - 2 / SECTION - 2
@mluy : gCsmIb KrenE efamss@nie WO oL wiefsseyLb.

4x2=8
Note : Answer any four of the following questions.

9. &L MOUBSD eraTpTed eTemar ? Q& wrgel i &M & e
TESMETLITEUG Brafie) HFenlGLmin ?
What is Ovulation ? In which day of menstrual cycle it takes place ? °

10. Leyar Slem Grmbd Grmi 2 @TL_TeugpHsTear Sryeamid wimg ?
Write the cause of Down's Syndrome.

11. g@uyrenser erarug eranan ? or.Caroaule oréseaman QRUITTEN

Gl
o_6Termer ? '

What are Operons ? How many operon groups are present in E.colj ?
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12. Qewerss CrrisseLdariy wH Db LD & LO TG G;r;rru'.l,é_'r;gsm—émffﬁll-l
< weunipden_Cuiwerer CaumumrGaar @raimiq enen 6T(PSHIS-

Write any two differences between active and passive Immunity.

13. “Gamfagiemn <osanTed” Creim) GRuaLLUGeug TSl ? e ?
Which is referred to as Industrial alcohol ? Why ?

14. wailg san® Csdseilean WSS wDTET Lwemm(h) ereser ?
What is the most important application of human stem cells ?

19fley - 3 / SECTION -3
apeirn  NaTTES @G

AenLuwiaNl&Ea LD,

GOl : Spssrann  elarmésafle gGFeId
3x3=9

eQenL_WwefGsayid. g6 eieT erewr 19 -&(§ SLLMUILOMS

Note:  Answer any three of the following questions. Question number 19 is compulsory.

15. Aiups Sialios Qewed eempre eramar 7
What is known as "Let-Down" reflex ?

16. Uald@LBg e LHH GOILL elers.
Write a note on " Amniocentesis".

17. @SLOEV grLid &ré@Lw am i GLom el 6ot Quuwi eremen ? ABS ammirGLomedflen

- Lefl@eT @ ey ene Gr(LpIe.

Name the hormone secreted by Thymus gland and mention two functions of that

hormone. r

LOFLIGT) aukdsdr LpMS GO euers:
Write about gene banks.

18.

L eSléb o_aTar g LG &6 aupluns CuraydGE Qgaslng.
LEELESNES auenrLiLLD (flowchart) &(Hs. '
dfather goes to grandson through daughter. Draw flowchart

19/ grdgreilen 2
Qs s O

A character present in gran
for this pattern of Inheritance.

[ Slplinys / Turn over
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Yfley - 4 / SECTION - 4

GSnliy : YletTeu(mid elemmésenée el wellssaib. %10
Note : Answer the following questions :
20. (=) waflls wrugn AL sHer (HGP) auflgpapsmar LDD TWSIS.

{606V G

(=) wellgefer Lfemmro auerrESlLmengeni 696Té &

(@) Write about the methodologies of HGP.
OR

(b)  Explain the evolutionary path of Man.

21. (=) Ay @Oy euenrs :
() Bensenl LsHdn @iz
@) poy eisib LHMD iy eSsid
S{60605)
(<) eleusTwggieopuler CoudliQumrmr saner vweTu (S g eusme 6 Hu{Hiw
afleneTa sener 6r(ps)s.
(a) Write short notes on :
(i) Population Density
(i) Natality and Mortality
OR

(b)  Write about the effects of chemicals used in the field of Agriculture.

-000-




